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Instructions :

GOy :

Note :

S@ass elemssenbd sfurs ufourd 2 drargr eramugamen sflunisss
Qamerereyld. FHLILEND Gopul@BLider e samsrarfluumeTflLLD
o Langwrs Ggfelssab.
Beolb  ideg smuy owbuleaar wLLEGCL TWmUsHEWD
213.5CEMHeusnH@GL LwauBss Cauar@b. ULm&Er amrusnHE
Quendlédr LweTUBHFSLD.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@&S - 1/PART -1

SiemenSG| eSlenEHEhE@GL eblenLwafl&sEe . 15x1=15

Qar@&ssuul_@erer mrem@ wrHm efeLsefled Waab gHyeLw
eflen_anwig CaipOsHEEIE GO BLer ellenulenamud Gaiigg) eTpseyLb.
Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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Apfiveumwd sphude B o emiGamlad appiigiors Basiu®o Gurg
PapaiQgater ?

(o) Spifs QeuefGupbmib @) md @b

(«g) Qamt Aot QeueNCGuippid

(@) Apbrieule Hpfi GaaNasiiuGeafama

(m) Opbt Qemiimpg @uéurs Hpbidamuuid Coaflssiu®ib

What will happen if the stretch receplors of the urinary bladder wall are totally removed ?
(a)  There will be micturition,

(b) Continuous micturition

(¢)  Urine will not collect in the bladder,
(d)  Urine will continue to collect normally in the bladder.

@58 varysafler sregls Qupp 2 ulfearse <2(GLD.
(<) Guflend (<) Apdlemid

(8) edwuL () euewsLT_(HS G\gsrr@él

A group of organisms having similar traits of a rank is

(a) Genus (b) Species

(c) Family (d) Taxon

EpeumeuatauhmieT ey 27 2 HusHuder Qgriunms s ?

(i) e eueTSNFL LITGISETSSH0

(i) asaflol Qurmmlsmer fangss0

(iii) geveraer, STHCHM LD HMID FILLISENS 556 mausse Seateano Curamauhenm

<jefl&Henmg).
(iv) 2uiflwe HeseysEluLng sflvrhsamer Heangsdlaing.
(1) (ii) HPID (iv) Seupy (<) () wHpID (i) &
(&) () wppd (iii) e (FF)  (iif) oHmID (iv) &

Which one of the following is not related to Vermiculture ?

(i) Maintains soil fertility

(i) Breakdown of inorganic matter

(iii) Gives porosity, aeration and moisture holding capacity

(iv) Degradation of non bio-degradable solid waste

(a) (ii) and (iv) are not correct (b) (i) and (ii) are correct
(c) (i) and (iii) are not correct (d) (iii) and (iv) are correct

www.freetnbooks.com | FREETNBOOKS



www.freetnbooks.com

3

&\ pdam._aubhper apenemuflen e LiEd AU [ e enpuwnms, QB g ?
() @aptiGungamnea

(<8)) SQOMDOE

(@) afuGunGaibuey

() enQgemoen

Among the following, which part of the brain acts as the satiety centre 7
(@) Hypothalamus

(b) Thalamus

(c) Hippocampus

(d) Epithalamus

spdavrer uLosEHdoL Cuurear Wearanssd @uia| Hlene Bener(pssses ofl
ofs afi Harsa@Ly®LWSTES SramuULlLTe Bugrer erps Hleveuda
Qmuusrss smHSUUGBL ?

(=) Wer wparariwss BS) (<) e eoalwués HEs

(@) eop Wapeaulu&snd () &8 Werapenaidwssd

When the potential across the axon membrane is more negative than the normal resting
potential, the neuron is said to be in a stateof :

(a) Repolarization (b) Depolarization
(c) Hypopolarization (d) Hyperpolarization

auariéd apmiCGore Wens &rULNTeD GLbmssErsES Coraneug :

(=1) SCrailem Crmud (<=1,) fifligafign

(@) Qe (FF) @rrlggssseanento
Hyper secretion of growth hormone in children leads to :

(a) Grave's disease (b) Cretinism

(c) Tetany (d) Gigantism

@ ergnyent wallgaflen psa&ESTHN 6T

(1) 500 (665 (<) 800 .60
() 1100-1200 1560 (rr) 1200 151,60
The tidal volume of a normal person is :

(@) 500 mL (b) 800 mL

(c) 1100-1200 mL (d) 1200 mL
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2t

12,

wafla apevenllen eriued vd BaniuBlee sl Guum  Hrer Qarifuyen wig 7

() ap@enth (v2h) Apapenern

(@) eapuGurgampe () Quemapener

Which part of the human brain is concerned with the regulation of body temperature ?
(a)  Medulla oblongata (b) Cerebellum

() Hypothalamus (d) Cerebrum

gevs prflgudter wpsalgaads Callagn o

(<) @wGundan (e2,) enwGuir@GermGer
(®) i digen () CCrrGumreen
The pigment present in the muscle fibre to store oxygen is :

(a) Myosin - (b) Myoglobin

() Actin : (d) Troponin

Qrépéflatugnsseaiian ypluri9e A wHmb B g mensdr 2 drar @ BUF
ahE QUHs UGLIUE ETThHeeuT ?

(1) AB (=) A (@) o (7) B
A person having both antigen A and antigen B on the surface of RBCs belongs to Blood
group :

(a) AB (b) A (€ © d B

i G eorfeur psesaL. eThg QgTEHeamwus sribss ?

(1) gemeTyLallger (=) g CeormeGuLimym
() slevUyup&aer () HCLMwmr
Cydippid larva belongs to which Phylum ?

(a) Porifera (b) Ctenophora

(c) Platyhelminthes (d) Cnidaria

sanag)y euige erafalwsen apsdwivent :

(1) urgsmuy (<) &y

(®) eMéosd (") (<) wimd (@)
The main function of the cuboidal epithelium is :

(a) Protection (b) Secretion

(c) Absorption (d) Both (b) and (c)
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SpELede QewalllE sLgsd fapsd apob org e frflsstiu®famg ?

(<=1) 2OCenm 2yullemiger (<) Comguid @jweflser

(@) ©EpsEGaren (/r) Cupsahlu Seneigg)in
In small intestine active absorption occurs in case of :

(a) Amino acids (b) Na*

(¢) Glucose (d) All the above

erhg e ulflend semeliuEd Bsstiu L Qe @ emyb eueny 2 udi eurgpwn ?

(1) pucer

(&) upr

Which creature can live for about a week without its head ?

(<) et

(/F) srlumeny&s)

(a) Frog (b) Earthworm
(c) Pigeon (d) Cockroach

Spaumeuareupmier sflwirer sapm erg ?
(=1) Qeafigen whmb Qrririeder g dwer urelCulienL ® apriGorearser <,@Lw.
(=) srOdHCLraflen LHHID asCrsla pdwema eagrmiu® anriGoranser.

(®) srigCsred wHmib OCLTeVILGrTen dwamen evermi@® apriGuorenser
B, GLD.

(7) Quiiflen wpmtd LErTETEY.c @eluemuuid rsdlems.
Which one of the following statement is correct ?

(@) Secretin and Rhodopsin are polypeptide hormones.

(b) Calcitonin and Thymosin are thyroid hormones.

(c) Cortisol and Aldosterone are steroid hormones.

(d) Pepsin and Prolactin are secreted in stomach.,
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@Oy : sTEmeaGIEDID 4D N EHEHHE

Note

16.

18.
15,
20.
21.
22,

23.

24,

LGS - 11/ PART - 11
oL (LD ofeniuafldsaib. efler areamT 24 -8

sLL_muwns el waflsasab. 6x2

. Answer any six questions. Question No, 24 is compulsory.

Q@oarpeluida @anbd oudfl whmib bl o W9 fser QeuallCupmib enpLTgges
sy QuIrELsar wree ?
What is the nitrogenous waste produced by amphibian larvae and by the adult animal 7

Quen wmsgeud (NelCurQsm) erempre eremer ?
What is meant by Physiotherapy ?

q98Slws dassafian gCaab BreE GewOUTHSMETE Fpis.

Name any four important functions of epithelial tissue.

wefls QUERIGLD ewlimu UL amibg LTSRS GDHI&ESEaLD.

Draw and label the parts of human Large intestine.

ST QFO&ET TN GTEmeT ?
What are Flame cells ?

GepsCamSiLfer gGseud @re® (yaé;é‘)lu.rglgjml_b TSI

Write any two significance of Glucometer.

gefl gensulen Ceuenagener edleTésaLd.

Explain the functions of Alary muscles.

Hlebir eremmmed eremen ?
What is lymph 7

Sl () WBar euariiL rempmed erevmen ?

What is composite fish farming ?
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u@E - 11/ PART - 111
Gmoy sTEDEIGWIENID QM) Gl‘ﬂmrni;.rr‘(gyi.(q, Wl MHib efenweflEseyn. eflenr araar 33 -848
SL_L_mMuLwns m‘ﬂmmumﬂeismm1b. 6x3=18

Note : Answer any six questions. Question No, 33 is compulsory.

25. wallp Qaudreanugndsalar euamssmer LILID auenys.
Draw the different types of human WBC,

26. MG Lerafl cratiiuBeugl et ? oren <D| GG c@{smpé';&ﬁu@@g)@ ?
Which is called the Blind Spot ? Why is it called so ?

27. Quuiifeugpsrer SigliuemL clfsmar erps)s.
Write the rules of Nomenclature.

2. Bargdrown prilepsmar Barsenew @iy Seedaflan Canubiss.

Differentiate between elastic fibres and elastic connective tissue.

29. ergiby emsaflen penm wadlw ey samers GHUKES.
List three features that characterise bony fishes.

30. =y ferd sl geadlenr DiH&GsHatlar Cuweny er(psis.
Name the layers of Adrenal Cortex.

3. ENI&EES sOUL — euanFwml.
Define Cross breeding.

32. av9&CurorGeamBLLfler w@HSSHI PESWLSSHEID CT(PSHIS.

Write the clinical significance of sphygmomanometer.

33. grsssden Cug gar Sl GDLL & priser ?
Why do some people snore during sleep ?

L@ - IV/PART -1V

GOy : emerSg NG &8 (e G0 cflenLwiafléasay . 5x5=25
Note : Answer all the questions.
3. (1) @&8 wHmD FalbL Clesemar CaupuBh s,

S|V

(<o) evapuirdenar&uflwum WHDILD eanGurdlaardilliur - Canu®sss.

(a) Differentiate between rod and cone (;:;lla

(b) Differentiate hyperglycemia from hypoglycemia.
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35.

36.

37.

38.

(<) WHIEBIEDI®LaIE®ET WPGIGBTenDmeasailalmbs Counu®sss.
EALMOY S
(<2h) pueanfen @ @eniQuLHEs WweTLbans eilerdws.
(a)  Differentiate chordates and non-chordates.
OR

(b)  Explain the male reproductive system of frog,.

(=) soadyallen uafllsaer ar(pzs.
V6V
() saurs flapefen Ly Heosamar eflflours ellené (5.
(a) What are the functions of Liver ?
OR
(b)  Explain in detail the steps involved in Respiration.

(=) AnpruQumsAsdir anriGorefear uarll wrg ? 9ig arCs 2 (HeurssL-
u@Epg? Qser ariemu SifsfEsab, Gmpéseb gne(houg erg ?
VG
(=) Qsrir o LHLdDé) Qelieugen mareposeT Wreney ?

(a) What is the function of antidiuretic hormone (ADH) ? Where is it produced and what
stimuli increases or decreases its secretion ?

OR
(b) What are the benefits of regular exercise ?

(<=1) gwail LHYD Hersmer CaunuBss)s.
36060 F)
(=) syuuren &dluler Qefwren LTSS UL QUMTHS LTk &Sener
G&Mé&sayLD.
(a) Distinguish between arteries and veins,
OR
(b) Draw a neat labelled diagram of the digestive system of cockroach,

~00o0-
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